Inlet covers TE14C

TE14C - L.S. Inlet cover with compensator
Interface IBW1455 - IBW1477 - IBW1033 - IBW0511 -
IBWO0500

Before use, carefully read the GENERAL INSTRUCTIONS FOR USE OF DIRECTIONAL
CONTROL VALVES

BONDIOLI I_:.] 398SBWO090ENO1 - 23-07-2019 1
& PAVESI



Technical data

; 150 I/min
Nominal flow 39.6 US gpm

: 250 bar
Nominal pressure 3625 psi

‘ 50 bar
Maximum tank pressure 725 psi

Temperature range

-20°C +85°C NBR seals

(max peak +100°C)

-20°C + 130°C HNBR seals

from 15 mm2/s to 90

TY P LS T
Ty [ . N
Y1 [

P1

|
|
|
|
|
|
|
|
|
Qil viscosity mm?2/s |
(15 ¢St to 90 cSt) [T — { S A Ls2
Hydraulic fluids as | | P2
Fluid defined in 1ISO 6743-4 i N |
standard | = |
i EDE
Weight 9kg | -
9 19.84 Ib | 25 bar
=
IBW1455 - IBW1477 %%
Interface - IBW1033 - IBW0511 - Lo j
IBW0500 Y1l -
T1 - - - T2
Overall dimensions
85[3.35] 219.1[8.62] 52.5[2.07]32.5[1.28]
67[2.64] 18[0.71] 87.3[3.44] MAX 131.8[5.19]
11[0.43] |  56[2.2] ~ 84[3.31] 84[3.31]
| i S
— |
v w Y1 Y1
| © B —— <
N _ T o,
< = 11 ] i Pt -
S| @ o — .
- ™ [To} LG
?. : S = ﬁ T [
] 3 L - i
g U *S=0 gl
<
)
&

74.3[2.93]

MAX 144.8 [5.7]

398SBWO090ENO1 - 23-07-2019

ZoMRIeY 19)
__DINOIL |



Characteristic curves

TE14C

Head losses P-T

20

10

,,,,,,,,,,,,,,,

,,,,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,

.
|
|

T
TOIL = 50°C
voiL = 21 mm?/s ~

VL - Pressure limiting valve

[bar]

350
300
250
200
150
100
50
0

140
[I/min]

T v
Toi = 50°C

VoL = 21 mm?/s

,,,,,,,,,,,,,,

,,,,,,,,,,,,,

,,,,,,,,,,,,,

,,,,,,,,,,,,,

,,,,,,,,,,,,,,

,,,,,,,,,,,,,

,,,,,,,,,,,,,

,,,,,,,,,,,,,

,,,,,,,,,,,,,

BONDIOLI
& PAVESI

o)

398SBWO090ENO1 - 23-07-2019



TE14C Fixing holes

Fixing holes
Ty Ty
> Y1 Y1
= LS
7 \ —
S 0 )((o S
RS0 I I |
[ I T T T
wel [T 1T we we [T, T e
14[0.55] 37[1.46]|34[1.34 | b 34[1.34]J 37[1.461! 14[0.55]
85(3.35] 22.3[0.88] | 130[5.12] | 66.8[2.63] 85(3.35]
219.1[8.62]
P
N
O
‘ P
e [}

4 398SBWO090ENO1 - 23-07-2019 BONDIOLI
& PAVESI I'g



Right and left side of the cover

Definition of the right and left side of the cover

T1

Left side E Right side

Ty

T1

The right and left sides of the cover, as shown in the drawing, are defined in relation to the position of port LS

BONDIOLI
& PAVESI

o)

398SBWO090ENO1 - 23-07-2019



TE14C Left side interface

E |IBW1455
P T - P Ts _ U
5\ 'ﬁ i Iﬁ - . ™ }
(l TWB1001 __WADE INTTALY 1 LS |
" | ‘ ‘ T Wr,?i_‘ \
A X | LR
% PH f+\P1 e t] F‘L“T*j[i L::
- r——1 }
T D:TAr ol ‘ = LS1 ﬂﬂ l=
T =1
g = m

E IBW1477 - For electrohydraulic actuation of the element

P " JY _ P ITS _ T
Ty Ty 4 '*f
Y WBT001 _WADE N TTALY Y1 LS i
: ‘ I
Y1 Za ©) T1 %‘
il . - LS1 =
10l H—P1 |
Py : Ho— 1
g ) LG ‘ }
— = E %
T1 vil |
| 1] T1 - - —
6 398SBWO90ENO1 - 23-07-2019 BONDIOLI I_g
& PAVESI



TE14C

Right side interface

IBW1033

T2

LS
|
|
|
|
|
|
-
|

TY
—
}
|
|
|
|
|
}
%,,,,,,,
|
|
|
|
|
|

™
Y1
P1
Ls1

Y
LS2
P2

—N
NG
o

T
T2

==

IBWO0500

T2

I¢‘7j
e b !

| b
B \\\\\\ L\\\L Sk
B B ,
| = —
N
, _ X _ ,
rE 3 sr
-
>
|
> -
g R
, =
@W i
o ,
o S
©
Sﬁ Reasol
- | s

&4

| D |IBWO0511

T2

LS
|
|
|
|
|
|
L
-
D
|
y“g,AT,A,A,,g
|
|
|
|
Y=
X (=1

T’Y
=
1
|
|
|
|
|
|
i
|
|
|
|
|
|
I
|
J

LS2
Y

P2
T2

=

398SBWO090ENO1 - 23-07-2019

ZopRieL 19)



Thread ports

Thread port P

Code

Type

Torque = 10%
N

Thread port T

Code

Type

Torque = 10%
N

m m
1/2" GAS 1SO 1179 70 1/2" GAS ISO 1179 70
E 3/4" GAS ISO 1179 150 E 3/4" GAS 1SO 1179 150
@ M22x1.5 ISO 9974 70 @ M22x1.5 ISO 9974 70
M22x1.5 ISO 6149 70 M22x1.5 ISO 6149 70
E M27x2 ISO 9974 150 E M27x2 ISO 9974 150
@ M27x2 ISO 6149 150 @ M27x2 1SO 6149 150
@ 7/8" - 14 SAE ISO 11926 70 @ 7/8" - 14 SAE ISO 11926 70
1" 1/16 - 12 SAE ISO 11926 150 1" 1/16 - 12 SAE ISO 11926 150
8 398SBWO90ENO1 - 23-07-2019 BONDIOLI

& PAVESI

o)



Thread ports TE14C

Thread port LS/LS+ Options on ports P-T-LS
Code Type Torquﬁr: 10% Code Ports
1/4" GAS 1SO 1179 27 E P-T-LS open
@ M14x1.5 ISO 9974 27 P-T open, LS plugged

E M14x1.5 1SO 6149 27

E 9/16" - 18 SAE ISO 11926 27

The LS+ port will be available only in the presence of a booster valve, see the dedicated chapter.

BONDIOLI 398SBWO090ENO1 - 23-07-2019 9
& PAVESI I':.]



TE14C Main compensator

Open Centre - Fixed pump

85(3.35] 219.1[8.62]
32.5[1.28] ‘ 52.5[2.07] 87.3[3.44]  MAX125.5[4.94]
6.3[0.25]

- LS2

P2

91[3.58]

158.5[6.24]

T2

67.5[2.66]

Closed Centre - Load sensing Pump

85[3.35] 219.1[8.62] vy P LS T
T — T -
32.5[1.28] 52.5[2.07] 87.3[3.44] MAX 115.5[4.55] b **ﬁ‘ l
t |
16.3[0.64] | i
I |
Ty P Ty | T”f@# |
N\ ! |
1 |
(Lig & Y1 Ls17:7$ ———————— ki,#,,,,4¥’ T Ls2
= 9, T1 T1 [ P2
J| = © |
= (o))
©, P1 f |
2 ) |
10/ o LS1 e |
f s
& DATA' i | |
0 T EEE Y1 WJ‘
S T1 ™ - = Tz

For Closed Centre - LS Pump configuration, tighten the screw V1 clockwise to end limit. For Open Centre -
Fixed Pump configuration, unscrew the screw V1 counter clockwise to end limit.

10 398SBWO090ENO1 - 23-07-2019 BONDIOLI I_g
& PAVESI



Main Compensator option

T

E14C

@ Regulation with grub screw

& PAVESI

o)

85[3.35] 219.1[8.62]
32.5[1.28] 52.5[2.07] 87.3[3.44] MAX 125.5[4.94] 6.3[0.25]
Ty P Q Ty
- N
- < T4 T4 ; o8
ST o i =o
S, P1 : A
0
2| g Ls1 ] B (r)
© N—
&Y, DATA ]
o T e
N~
© T1
Regulation with handwheel
85[3.35] 219.1[8.62]
32.5[1.28] 52.5[2.07] 87.3[3.44] MAX 125.5[4.94] 6.3[0.25]
8
Ty P Ty =
_ [t}
' Y1 Y1 &
© — 5 1
— &, T4 T4
3| 5 ) 5 o I
©
= P1 f N
? [
Q| @ LS1 Lo s @
©
d i
% T DATA Mot
N~
© T1
BONDIOLI 398SBWO90ENO1 - 23-07-2019 11



TE14C Options on LS+ line
@ None

85[3.35] 219.1[8.62] v P 0S -

T™ —

67[2.64] | 18[0.71] 87.3[3.44]  MAX131.8[5.19] Y1

P1

I
I
I
I
— I
— ! =
< |
N ‘ ‘ Ls2
— e 7
% ) a Ls1 —:% ———————— A ————
I P2
3| 8 ‘ ‘
S Ls R
9L,
Q) | I M .
0 g | 25 b:
= L
© ) o } (]
o)} Y1 | 4
™ T2

Booster valve with fix setting

85[3.35] 219.1[8.62] @
- Y LS: P TLS T
38[1.5] 47(1.85] 32.5[1.28] MAX 99.3 [3.91] = E i ]
P1
42.5[1.67] & 51.5[2.03] - -
t ®——_ 1 ‘
- il Ty Ty ) I %*7@
S Y1 | P \& R e
. 2 6 LS+ T1 T Ls1 ,}%,,J,,,,,%giT 77777 L:Ef >
3| o , LS o | =l |
o] = 2 P1 ] | 'Im
) A ® |
ﬁ% ; ® _\@ LS1 4 7S } 25 bar
el & ] T DATANS TLF
= NS = vl | @J
T1 T = = T2
Booster valve with adjustable setting
85[3.35] 219.1[8.62] v s e i @ ,
38[1.5 47[1.85] 32.5[1.28] MAX 99.3 [3.91] e f i ]
P1
42.5[1.67] ® | ;,,,,L+,,
SN 7o !
w L %”"ciﬁ
< L e
0 PO S O S G G L%r*'-sz
§ 2, Ls1 %} T Pz
e | r—1 |
ol = I Unis ot
59 i } ’Esﬁhar
© 'S
2 Y1 WJ ;i
T — — T2
12 398SBWO90ENO1 - 23-07-2019 EONDIOEI
PAVESI



Pressure reducing valve

@ None

85(3.35]

68[2.68]

17[0.67]

219.1[8.62]

43[1.69]

139.5[5.49]

96.5(3.8]

E Standard fixed setting

85[3.35]

271[1.06]

58[2.28]

62[2.44] ‘

158.5[6.24]

96.5(3.8]

The pressure reducing valve must always be present with the left-side interface E IBW1477 to ensure

87.3[3.44]

219.1[8.62]

87.3[3.44]

2ol
@RCLIN(G)
g%

IS

MAX 131.8[5.19] .
©
Ty
N
<
‘o'
e
3,
N~
(o))
64[2.52] 67.8[2.67]|
)
<
N
_--II-I Y
/‘f'l T4
—
: % 3
o
N\ N~
= ©
Ny,

correct electro-hydraulic activation of the element.

T
P1

Ls1

T

™

P1

Ls1

@ f@ﬂ

™

1

1
_——e—ee e — — L

-1 Ls2

P2

T2

1 Ls2

P2

T2

BONDIOLI
& PAVESI

o)

398SBWO090ENO1 - 23-07-2019

13



TE14C Gauge ports

MP and MT - Gauge ports

P MP —
Y1 ﬁ Y1 Y
T1 [o) T1
K - P1 i3
[ T @
N O
2 LS1 =
‘DATA
T1 T
MT
Thread Pports MP and MT
Code Type Torqu'\? m= 10%
@ Not machined
1/4" GAS ISO 1179 o7
@ M14x1.5 ISO 9974 07
E M14x1.5 ISO 6149 o7
E 9/16" - 18 SAE ISO 11926 07
14 398SBWO9O0ENO1 - 23-07-2019 BONDIOLI I_g
& PAVESI



Port Y TE14C

Port Y
. JY L T
v1r—+ i
Ty P Ty P1 i i
I I
Y Y1 I i 7:'*77%@*‘ I
Y1 o T1 B smmnsin
T1 A A P1 LS1*:T ———————— J,—T ————— L%— ::
w | F% |
DATANS Ji LS1 ! i | =F * =
1 EX
T1 L@TT
vi|_ | 4
T = = T2

The Y port will be present only if the left-side interfacd F | IBW1477 is selected - For electro-hydraulic
actuation of the element.

Thread Port Y

Code Type

@ None
@ 1/8" GAS ISO 1179 12

Torque = 10%
Nm

BONDIOLI 398SBWO090ENO1 - 23-07-2019
& PAVESI I':.]

15



LS2
P2
T2

Ls2
P2

T2

j‘i
E

O D i (Y

Main LS line options

85[3.35]

219.1[8.62]

ZoMRIeY 19)

398SBWO090ENO1 - 23-07-2019

m Drain valve 0.5 I/min

TE14C

P - P
1 |
3 |
b b | || R
al LT
| e T A ] - B
i i ! & i
e |
I U5 I
| | |
W f
| s |
| 0’ |
> | L ) > |
HerE===—==== Sp======== d==9 Hre———————— ==
| e \ | ! \ e
FrE 8 r b b
[¥29]s8s1 [¥29]s8st
) [¥¥'2]29 | [95°2]S9 ) [¥7'2]29 | [972] 299
5 5
g
2] 5| 3]
= — B = =
0 0
< <
£
o &
) nﬁ N =
-
Q
— o =
3 o 3
e = S,
2 © I
& > &
£ 8
o
w o T Jw
5 , 8 &5 :
0 LL Nl
< F <
o | © ®
4 -
A_U Ol o
= Pz
: @) -
L ]
[]692L  [veL]SLE -l []692L  [veL]SLE

16



Additional LS line - right branch options TE14C

@ General - no shuttle valve

TY __P1Ls T
[ X ; —
vir—+4 i
P1 T |
I I
I I
I I
I | i
I ¢
\ I £3
| | L
I I
e Ll T |kS2
| | P2
I I
I F——1 }
TR
;o LM 1=
| 25 bar
I
T
vil_ 4
™ — — T2

T P LS T
T1[ L - : _
i+ ;
P1 I |
] |
\
‘ \
| b B
Lo e ‘
| -
e S S L
‘ ] P2
‘ [
‘ \
‘ [
=
L -
\
\
I
[
vil
T — — 2

In case of compensated elements, for a correct functioning, the configuration will always be necessary
Dedicated local right branch that provides the shuttle valve in the line LS.

BONDIOLI 398SBWO090ENO1 - 23-07-2019 17
& PAVESI I':.]



Additional LS line - unloading valve

@ Replacement cap for unloading valve and General

85[3.35]

17[0.67] 68[2.68]

8[0.31]

137[5.39]
129[5.08]

158.5[6.24]

219.1[8.62]
131.8[5.19] 59[2.32] 28.3[1.11]
N
LS2
P2
T2
o T

@ Replacement cap for unloading valve and Local LS

LS1

Y1
™

LS2
P2

T2

85[3.35] 219.1[8.62]
17[0.67] | 68[2.68] 131.8[5.19] 59(2.32] | 28.3[1.11] T,%Y e T
Yir— |
P1 | |
! |
= V1 ! w
[ N o X p| ™ . SR @
© ) | I
LS | D LS2 Ls1—x7‘% b L][J”;*T""::
O = ] | |
— N P2 ! = !
g g| V! < o | a1
8 S @ 2 B T2 |
: R { - 1 o ° !
P T : — — 4 T2
@ With unloading valve and General LS
85[3.35] 219.1[8.62]
17[0.67] |  68[2.68] 131.8[5.19]  59[2.32] 28.3[1.11] m S e T
’_ — |
= /@ P1 } i
[ 3 | @ | =
€2 | | £z
ol i | L
— © :L |_s : O LSZ Ls1—:—% 7777777 7L7T777A in ‘T Ls2
2 © —d — i ] | @2 i P2
2 g 8 ) e
2| 5 @ I © T2 | =
(o]
‘Cll T — = |
=HE =2 T S S
18 398SBWO90ENO1 - 23-07-2019 BONDIOLI

o)

& PAVESI



Additional LS line - unloading valve TE14C

@ With unloading pilot valve and Local LS

85[3.35] 219.1[8.62]
17[0.67] |  68[2.68] 131.8[5.19] 59[2.32] 28.3[1.11] ™ ? - T
i P11 i
2 O, N | i
= ‘ e N - @
%' ‘ L == d L . -1 ——|LS2
sl LS1-= b —— — b
e D a2 | e
N~ v,
) = ) P2 |
- 3 2 — ‘ } |
: & © r2
[} IS
= | v }
L T T :.’-: = = L T2
BONDIOLI I_:.] 398SBWO90ENO1 - 23-07-2019 19
& PAVESI



Type of emergency unloading valve

@ Standard terminal @ Emergency screw
219.1[8.62] 219.1[8.62]
131.8[5.19] 59[2.32] 28.3[1.11] 131.8[5.19] 59[2.32] 28.3[1.11]
I |
g S
<, o
) 5
N
. 3w
~ D)
o @ —
Ls2 a2 LS2 § §
P2 | & P2 K
Electrical characteristics of the unloading valve coil
Voltage 12 24 V (x 10%)
Resistance 7.7 32 Q (+ 7%)
Rated current 1,55 0,75 A
Power 18,6 18 W
20 398SBWO90ENO1 - 23-07-2019 BONDIOLI

& PAVESI

o)



Type of emergency unloading valve TE14C

BONDIOLI |_:.] 398SBWO090ENO1 - 23-07-2019 21
& PAVESI



TE14C Instructions for ordering

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
1 Left side interface
— BWT1477 - Fi
E 1BW1455 F eIectrohydraSIric actuation of
) Right side interface
B 1BW1033 C 1BW0500 D 1BW0511
3 Thread type
F Female
4 Thread port P
B 1/2"GASISO 1179 N M22x1.51SO 9974 5 M27x2ISO 9974 R 7/8"-14 SAEISO 11926
F 3/4"GASISO 1179 J  M22x1.51S0 6149 U M27x21SO 6149 V 1"1/16-12 SAEISO 11926
5 Thread port T
B 1/2"GASISO 1179 N M22x1.51SO 9974 5 M27x2ISO 9974 R 7/8"-14 SAEISO 11926
F 3/4" GASISO 1179 J M22x1.51S0 6149 U M27x21S0 6149 V 1"1/16-12 SAEISO 11926
6 Thread port LS/LS+
L 1/4" GASISO 1179 3 M14x1.51S0 9974 K M14x1.51SO 6149 P 9/16" - 18 SAEISO 11926
7 Options on ports P-T-LS
A P-T-LS open B P-T open, LS plugged
8 Main Compensator option
R Regulation with grub screw V  Regulation with handwheel
9 Options on LS+ line
N None B Booster valve with fix setting (o] Egt%%tger valve with adjustable
10 11 Booster valve setting
NN None 15 15bar 30 30 bar
05 5 bar 20 20 bar 35 35 bar
10 10bar 25 25 bar 40 40 bar
12 Options on port LS+
N None A Open B Plugged
13 Pressure reducing valve
N None A Standard fixed setting
22 398SBWO90ENO1 - 23-07-2019 BONDIOLI | :].
& PAVESI



Instructions for ordering

16 17 18 19 20 21 22 23 24 25

14 Thread Port MP
N None 3 M14x1.51S0 9974 P 9/16" - 18 SAEISO 11926
L 1/4" GASISO 1179 K M14x1.51S0O 6149

15 Thread Port MT
N None 3 M14x1.51S0 9974 P 9/16" - 18 SAEISO 11926
L 1/4" GASISO 1179 K M14x1.51S0O 6149

16 Options on ports MP - MT
N None B I\n/lgcrﬂil#]ge%ed, MT not F MP and MT plugged
A MP open, MT not machined E MP and MT open

17 Thread port Y
N None Q 1/8" GASISO 1179

18 Options port Y
N None A Open B Plugged

19 Main LS line options
I Drain valve 0.5 I/min L ON-OFF Drain valve 0.5 I/min

20 Additional LS line - right branch options
G General - no shuttle valve L I_-%?A gﬁgﬁgtsgh';'eght branch

21 Additional LS line unloading valve
N Replacement plug A 12V DIN 43650 G 12V DEUTSCH DT04-2P
X  Not prepared B 24V DIN 43650 H 24V DEUTSCH DT04-2P

20 LS line emergency unloading pilot valve type
N None O Standard terminal S Emergency screw

23 24 Type of pressure relief valve
00 VMP replacement plug 10 100 bar 16 160 bar 22 220 bar
05 50 bar 11 110 bar 17 170 bar 23 230 bar
06 60 bar 12 120 bar 18 180 bar 24 240 bar
07 70 bar 13 130 bar 19 190 bar 25 250 bar
08 80 bar 14 140 bar 20 200 bar
09 90 bar 15 150 bar 21 210 bar

o5 External treatment

|:| N None Z Znc plating
BONDIOLI 398SBWO90ENOT - 23-07-2019 23

o)

& PAVESI



